Solve each problem. Match the answer to the color code below, and color the space using the correct

colored pencil.

7+l= |21+3= [1)7, |4+2= [2:2=
2)8
| 6+2= |8+2= 9+3=
)7, 3)3
3)916:3= [8+]= [10:2= |2)6
242 = b2 -
24 +3= 18+3= 27%3=
)5 )2
|5 +3=
6+2= |27+3-= [2:2= [9+]-=
| 6+2 =
2% 5+ = |Y8_ | 0+2= 3W
3)6 2)4,
IENG V&
39 q. . . )3
|8+3= |[2+2= [9+3=
)1 )7
9=0range 6=0range 3=0range
8=0range 5=Yellow 2=Yellow
/ =Black 4=Green | =Black
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Directions: Solve the problems by adding the spiders in each row, and write the answer.
Then read the answers aloud quietly to count by 2.
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